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1a. Solve the equation below and write

the related facts.
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2a. Divide the number below by 100.
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3a. Choose the cormrect number to
complete the calculation below.
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4a. Here are some division and
multiplication calculations.

500 + 100 = 50
50 x 100 = 500
500+100=5

Tick the correct calculation.
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60x10=__

600+10=_

600 +100 = _

400+10=___

90 +10 =

__=72x10

__=500+10

800 +100 = _

__=400+10

27x100=__

__ +=100=27

270=10x _

The answer is a
multiple of 100:
True or False?

2 x100
500 + 100
12 x100
900 +100
25x100
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5a. Solve the equation below and write
the related facts.

8 x 100
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éa. Divide the number below by 100.
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7a. Choose the cormrect number to
complete the calculation below.

| 6200 || 620 || 2,600 |

+ 100 = 62
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8a. Theo is converting measurements
from cm to m.

8,400 + 10 = 840

8,400 + 100 = 84

8,400 x 10 = 84,000

Tick the correct calculation.
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